Congruent Triangles 7 — Isosceles Triangles

Definition of Isosceles Triangle: A triangle having two equal or congruent sides

1. Isosceles Triangle Theorem

Given: AABC is isosceles

where AC =~ BC

Prove: zA = /B
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STATEMENTS REASONS
1. AABC is isosceles 1.
2. AC=BC 2.
3. Draw angle bisector CD 3. Every angle has one and only one bisector
4, Ll =412 4.
5. CD=CD 5.
A
6. AACD = ABCD 6.
7. A= /B 7. Corresponding parts of congruent triangles
are congruent
2. Converse of Isosceles Triangle Theorem 1l2
Given: <A = /B
Prove: AABC is isosceles
A D B
STATEMENTS REASONS
1. AABCand zA=/B 1.
2. Draw angle bisector CD 2.
3. 3. Definition of angle bisector
4. CD=CD 4.
5. AACD = ABCD 5.
6. AC=BC 6.
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AABC is isosceles
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